®duTtuHru DIN

dyHKUMOHanbHaA ramka FM EO2

ONA cTanbHbIX TPyo

"l

L1

8
Q
\X)

X1) CtonopHoe KonbLo

Kop 3akasa
FM...CF Ctanb ounHkoBaHHanA FM...VITCF Ctanb ounmHKoBaHHaA
D1 6e3 Cr(VI), naccuBup. +YnnotHutens |6e3 Cr(VI), naccuBup. +YnnoTHuTens

@ YnnoTHuTEenNb PN (6ap) YnnoTHuTENb PN (6ap) Bec
Cepua T1 L1 S1 NBR FKM r/wT.
LL 04 M8x1 11,0 10 FMO4LLCF - - - 5
06 M10x1 11,5 12 - - - — 6

L 06 M12x1,5 14,5 14 FMO6LCF 500 FMO6LVITCF 500 12
08 M14x1,5 14,5 17 FMOSLCF 500 FMOSLVITCF 500 17

10 M16x1,5 15,5 19 FM10LCF 500 FM10LVITCF 500 22

12 M18x1,5 15,5 22 FM12LCF 400 FM12LVITCF 400 30

15 M22x1,5 17,0 27 FM15LCF 400 FM15LVITCF 400 48

18 M26x1,5 18,0 32 FM18LCF 400 FM18LVITCF 400 70

22 M30x2 20,0 36 FM22LCF 250 FM22LVITCF 250 94

28 M36x2 21,0 41 FM28LCF 250 FM28LVITCF 250 106

35 M45x2 24,0 50 FM35LCF 250 FM35LVITCF 250 160

42 M52x2 24,0 60 FM42LCF 250 FM42LVITCF 250 244

S 06 M14x1,5 16,5 17 FMO6SCF 800 FMO6SVITCF 800 20
08 M16x1,5 16,5 19 FMO8SCF 800 FMO8SVITCF 800 23

10 M18x1,5 17,5 22 FM10SCF 800 FM10SVITCF 800 37

12 M20x1,5 17,5 24 FM12SCF 630 FM12SVITCF 630 39

14 M22x1,5 20,5 27 FM14SCF 630 FM14SVITCF 630 60

16 M24x1,5 20,5 30 FM16SCF 630 FM16SVITCF 630 72

20 M30x2 24,0 36 FM20SCF 420 FM20SVITCF 420 121

25 M36x2 27,0 46 FM25SCF 420 FM25SVITCF 420 221

30 M42x2 29,0 50 FM30SCF 420 FM30SVITCF 420 248

38 M52x2 32,5 60 FM38SCF 420 FM38SVITCF 420 367

PN (63p) _ by (Mria)
10
18 Karanor 4100-8/RU



®dutunHru DIN

dyHKUMOHanbHaA ramka FM EO2

[na Tpyb n3 Hep>kaBetoLen ctanm
S1
il )
8
\X)

L1

"l

X1) CtonopHoe KonbLo

Kop 3akasa
FM...71 FM...NBR71 FM...SSA FM...VITSSA
Hepx. cTanb Hepx. cTanb CTanb OLUMHKOBaHHas CTanb OLMHKOBAHHast
6e3 Cr(Vl), naccusnp. 6e3 Cr(Vl), naccusup.
+YNNOTHUTENb, +YNNOTHUTEND,
CTOnOpHOE KOMbLiO: CTONOpHOE KOMbLIO:
D1 Ynnot- Hepx. cTanb Hepx. ctanb
@ Hutenb | PN (6ap) | Ynnothutenb |PN (6ap) | Ynnothutens | PN (6ap) | Ynnothutens | PN (6ap) Bec
Cepust T1 L1 S1 FKM NBR NBR FKM r/wT.
LL 04 | M8x1 11,0 10 | — — — — FMO4LLSSA 100 — — 5
06 | M10x1 11,5 12 | — — — — FMOGLLSSA 100 — — 6
L 06 | M12x1,5 | 14,5 14 FMO06L71 315 | FMO6LNBR71 315 FMOBLSSA 315 FMOG6LVITSSA 315 12
08 | M14x1,5 | 14,5 17 FMO08L71 315 | FMOSLNBR71 315 FMOBLSSA 315 FMOSLVITSSA 315 17
10 | M16x1,5 | 15,5 19 FM10L71 315 | FM10LNBR71 315 FM10LSSA 315 FM10LVITSSA 315 22
12 | M18x1,5 | 15,5 22 FM12L71 315 | FM12LNBR71 315 FM12LSSA 315 FM12LVITSSA 315 30
15 | M22x1,5 | 17,0 27 FM15L71 315 | FM15LNBR71 315 FM15LSSA 315 FM15LVITSSA 315 48
18 | M26x1,5 | 18,0 32 FM18L71 315 | FM18LNBR71 315 FM18LSSA 315 FM18LVITSSA 315 70
22 | M30x2 20,0 36 FM22L71 160 | FM22LNBR71 160 FM22LSSA 160 FM22LVITSSA 160 94

28 | M36x2 21,0 4 FM28L71 160 | FM28LNBR71 160 FM28LSSA 160 FM28LVITSSA 160 106
35 | M45x2 24,0 50 FM35L71 160 | FM35LNBR71 160 FM35LSSA 160 FM35LVITSSA 160 160
42 | M52x2 24,0 60 FM42L71 160 | FM42LNBR71 160 FM42LSSA 160 FM42LVITSSA 160 244

s 06 | Mi4x15 | 165 | 17 | FM06S71 | 630 | FMOGSNBR71 | 630 | FMO6SSSA 630 | FMOBSVITSSA | 630 20
08 |Mi6x1,5 | 165 | 19 | FM08S71 | 630 | FMOSSNBR71 | 630 | FMO8SSSA 630 | FMOSBSVITSSA | 630 23
10 | M18x15 | 175 | 22 | FM10S71 | 630 | FM10SNBR71 | 630 | FM10SSSA 630 | FM10SVITSSA | 630 37
12 | M20x15 | 175 | 24 | FM12S71 | 630 | FM12SNBR71 | 630 | FM12SSSA 630 | FM12SVITSSA | 630 39
14 | M22x15 | 205 | 27 | FM14S71 | 630 | FM14SNBR71 | 630 | FM14SSSA 630 | FM14SVITSSA | 630 60
16 | M24x15 | 205 | 30 | FM16S71 | 400 | FM16SNBR71 | 400 | FM16SSSA 400 | FM16SVITSSA | 400 72

20 | M30x2 24,0 | 36 | FM20S71 400 | FM20SNBR71 400 FM20SSSA 400 FM20SVITSSA 400 121
25 | M36x2 27,0 | 46 | FM25S871 400 | FM25SNBR71 400 FM25SSSA 400 FM25SVITSSA 400 221
30 | M42x2 29,0 | 50 | FM30S71 400 | FM30SNBR71 400 FM30SSSA 400 FM30SVITSSA 400 248
38 | M52x2 32,5 | 60 | FM38S71 315 | FM38SNBR71 315 FM38SSSA 315 FM38SVITSSA 315 367

PN (6ap) _

PN (Mra)
10

m 19 Katanor 4100-8/RU



